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1. WWﬁgﬂmoagﬁr«*ﬂumh L Themc_a:e 150 Multiple Choice Type
2. WM%WW%I 2. All questions carry equal marks.
3. TR I W B AwRTE 3w 76 war| |3 There shall be no negative marks for
ST | WTOOE ansSwWers.
4, Wwwﬁﬁél 4. Please attempt all questions. :
5. 3 T IW I o Rl gt A | Do OBt for an answer which
T I 6. An OMR answer sheet will be supplied
6. WHI & IW F ¥ fow aw= Few g 1o you separately by the Invigilator to
WQOMRWWMWI 7 4 Tmﬁ!m::ve four alternatives
7. T AR e R R E Y| | T T e : .
T & fawer W A o = eer = You ;:e to chc;o.#:eymﬂ:altsc;?;ct
%Wﬁ&n&ouammﬁmﬁw alternative  and thdarkzn b:e
: ap; riate circle with black or blue
Wﬁﬁmﬁl balrlm;f;n :n the given OMR answer
sheet.
oy ForEmmph
1. y Qussrion
® @ © O Tt ® @ . ©@ ®©
2.0 @ @ © 2 @ 0. @ 6
8. e i@ o@ & f o] |8 Strict directions are hersby given to
'QMRmmﬁ@ﬁ T I F ¥ou 1o refrain from correction of your
"'3'%%qﬁzﬁmmﬁmm mh:mrt:daTW mOMoRr
T / @R ¥ I S Wit 4k scratching o wsog white fluid /
; ': 39 v ) sEReE 9 S &t e whitemer In case of violation of this
truction, ” resuit b
I ﬁwﬂwmm%mmﬁqﬂmﬁ pmr:)cesaed u*,Tw may gleayd;g;reg '
‘ *ﬂuha’rfaﬁﬁmmm%u disqualified in the exam.
o a-iMR TR TEE P wq"ﬁﬁ 9, Rog go., Qnesg::k}Booskle:lS;t Cc::ie
an ueshon et Seri umber
.;"*@‘. Wﬂ%ﬁrﬁzm@mg&m should be written on the OMR Answer
~_ ¥ Sheet with the circle corr nding to
T A m - 'theee :l?gits ;ﬂ: bclzclfesif:d \f*ith
Wﬁ-ﬁ e wr fas i 4 we ae Blue/Black ball point pen only
fully and correctly.
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W A9 U3 3 3340
l General Knowledge and Other Skills

(Q.Nos. 1 to 50)

1. o Fo HRUSIH ¥ N 16 T, 2010 =t 28 &1 foert R % fow fra s

sifSg fomar 2 |
(4) - HH Feras B) TR S
i (€ =g gfer (D) ¥ ¥ HIE F&T

Among the following whom did K. K. Foundation on May 16, 2019 announce the

winner of 28t Bihari Puraskar ?
(A) Manisha Kulshreshtha (B) Leeladhar Jagudi X

AZY"  Keerti Parihar 3& None of them.

2, 12?15,‘QOIQEﬁﬂéﬁWﬁﬁMﬁﬁWﬂawmaﬁ?ﬁﬁ@‘m’aﬁﬁwmﬁ?
|

(A)  GrleT sfareds . (B) e s
(C) I 751 (D) AR SIS
S4th Jnanpith Award was given to which English writer, in New Delhi on June
12,2019 ?
(A)  Sunil Shrivastava 4@% Amitav Ghosh
(C)  Yuvraj Bhattarai (D)  Leeladhar Jagudi
3. YT % F9M & I HEE S A @ S & )

(A) 37w (B) T aRrgl
(C)  geiler == (D) ¥ -9 &IE &l
Among the following, who is the Chief Election Commissioner of India at

Tyt present ?

i J (A)  Ashok Lawasa @" Sunil Arora
f

. I : ~ [C)  Sushil Chandra (D)  None of them

{906187] Set-A ST-28(II) | 2 /48
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4.  ¥Rd WFHR A 31 93, 2o1gﬁﬁoa&ﬁwmaﬁ§é¢m’?§é®‘ﬁmﬁﬁmﬁ

%WW%WWWWﬁ%
(A) %o 2000 ¥fF TE (B) %o 3000 %q O
(C) Bo 4000 ¥ T D) T d B I8

The minimum pension provided to farmers attaining the age of 60 years to all

small and marginal farmers (SMF) by the Central Government from May 31, !

2019 is
(A)  Rs. 2000 per month éﬁ/ Rs. 3000 per month
(C) Rs. 4000 per month (D) none of these
5. T ity 2 Sefiven Sty gk =9 2010 %1 sk
(&)  H9RE B =
() U= (D) TH q = &

The winner of world mixed team badminton championship Sudirman Cup 2019

s

(A) India ,@/ China

(C) Japan (D)  None of these
6. fodl d&mm =i 52 § WM 3 W ANGhe 45 BT 1 ah v S 9 13 @
fasifee fevar =3, &t vrwwer &
A) 5 ; B) 6
(€ 12 Lo, I
A number being divided by 52 gives remainder 45. If the number is divided by

13, the remainder will be

(A)Te B ﬁrﬁ

(C) 12 (D) 7

[ 906187 | Set-A ST-28(II) 3/ 48
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1 7 PR E IR i e d )
»ﬁ/ﬁ ® 3
© ¥ | D §6
- Which of the following is the largest number ?
R V2, ¥3 ¥3,. ¥6
: a) 2 ® 3
: © ¥4 o) 6
8. ahiwaﬁ?ﬂaﬁwmsw%aﬁ?magﬁnmmahzo%lﬁ#@mﬁmuh
3
M 70 B 35
(&
(C) 140 | (D) 105

The ratio of two numbers is 3 : 4 and their LCM is 120. The sum of the numbers
is
é)/ 70 (B35
(C) 140 (D) 105
9 Mﬁ@f%so%ﬁﬁsoaaﬁwwﬁmqeow%, at ST e 2

A) 120 ﬁy/ 150

(C) 180 (D) 200

When 60 is subtracted from 60% of a number, the result is 60. The number is
(A) 120 (B) 150

(C) 180 (D) 200

[ 906187 | Set-A ST-28(1I) 4 /48
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10. 3ft ISWWWQOW%WW%W%,FﬁWHﬁﬁ#

A) 16 \ B 20

) 24 D) 25 .

If the cost price of 15 books is equal to the selling price of 20 books, the loss per;, :
cent is f

(A) 16 B) 20

© 24 1By 25

11. 20 &3t =7 3ag 15%1qﬁmsﬁmﬁwmlzﬁ,a‘rmﬁwﬁw,

&rga gm
A) 16 B 15
C) 14 @) 13

The average of 20 numbers is 15 and the average of first five numbers is 12. The

average of the rest is

%{ 16 B) 15

(C) 14 (D) 13

12, uﬁa’A:B=3;4,B:c=5:7aﬁ'¢c:n=8;9=%'.a:D'"a?ré"wt?
A) 3:7 B 7:3

(C '21:10 ,a:(j/ 10: 21

II'A:B=3:4,B:C=5:7andC:D=8:9t.henA:Disequalto

. _ (A) X (B) fifeEe
(C) 21 10 (D) 10: 21

| . [906187 | Set-A ST-28(11) | 5/48
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TF TEH 1 UREY 160%%%3@%&@&?%%’48%%@1&3%%@
S TG T dhet 39 ot & e % aeR &

(A) 327X B) 8HX
€ a4t (D) 16 HRX

The perimeter of a rectangle is 160 metre, and the difference of two sides is

48 metre. Find the side of a square whose area is equal to the area of this

rectangle.
. ” 32m B) &m

€) 4m (D) 16m

T A 5 E/d2 7 e | S g8 T O 9 15 e o UR & A €| goT
I oag (e #) gnft 5, B

(A) 600 (g){ 750

(€) 1000 (D) . 1250

A man walking at the rate of 5 km/hr crosses a bridge in 15 minutes. The
length of the bridge (in metres) i§ af'7

(A) 600 750

(C) 1000 1250

T A TFH AR &, HR GOt A + cosgc A = 3Tl sin A FT A §

B

(D)

SRS

U
o

If A is an acute_argie arfd cot AR cosec A = 3, then the value of sin A is
4
B —
(A) 1 (B) 5
3
C): = D 0
(C) 5 )

..........................................................................
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16. nﬁquﬁméﬁ@rﬁw%w%mmmﬁmﬁr%wﬁﬁgﬁﬁl
R, IR § o R e & ) J
&) 98 , B = |
i i
(C) == D) F= | 3 76

Pointing towards Garima, Rakesh said, "His father is the only son of my father."

How is Rakesh related to Garima ? - 1
(A) Brother ABI~ Father
(C) Uncle (D}  None of them

w. wtmﬁwﬁlstﬁavﬁmﬁaﬁtw ??ﬁggmggﬁztwfm%m
T WA B AR I A#R 25 Hex wew FEm I IR 0T A @ a7
o s m At i wm e )

(A)  5HRX B) 109
(©) 40X (D) 80 =T

Samir went 15 m to the west from his house and then turned left and walked
20m. He then turned east and walked 25m and finally turning left covered 20m. :

How far was he from his house ?

A) 5m B) 10m

'é/ 40 m (D) 80m

18. mﬁﬂﬁmwﬁwﬁosmﬁwm RABIT & 100 =& =12, & HAIR &I

T foTar AT 2
(&) 27 By 72
| © 90 (D) 160
| e WL T YT T 1T P T R ¥ e
[ 906187 J'Set-A ST-28(11) 7 / 48
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If DEEP is coded in a symbolic language as 60 and RABIT as 100, then how will

HAIR be coded ?
(A) 7

(€) 90

(B)
(D)

72
160

19, I AFHY = '+ FHY 'x"'— TG '+ '@ '+ F A+ 7, @

8+4x2-4+2="7

(A) 2 (B) 28
(C) 32 (D) 36
If'x' means'-',"' * 'means'x',' - 'means'+'and '+’ means ' +'then () -
8+4x2-4+2=7
@A) 2 B) 28
,9(}/ 32 D) 36

20. fy=fefEa v & oa 93 it 10 HiN :

(A) 4

Ay~ 343

(B)
(D)

305
729

Find the missing character in the following figure :

.....................................................................

[ 906187 ] Set-A

....................... -

(B) 305
(D) 729
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21. frafefeg aaﬁﬁ»j@mﬁﬁq—mﬁmmmﬁgam%wmm ?

JAK, KBL, LCM, MDN, ? 3

(A) OEP ' | ,y NEO
(D)

(C) MEN PFQ
el

Which option will take place of (?) in the following letter pattern ?

Ry e — ——

JAK, KBL, LCM, MDN, ?

]' (A) OEP .97 NEO

(C) MEN (D) PFQ

22, ﬁﬁmmﬁmﬁﬁ(?yéwwﬁaﬁmm?
1 16, 28, 31, 40, 50, 61, ? ‘
4 73 j B) 77
B B)
(C) 83 - (D) 81

Which number will take place of ( ? ) in the following number series ?
16, 23, 31, 40, 50, 61.?
. (A) 73 B) 77

(C) 83 D) 81

23.  Frfefaa sl & feed Brqw § -

A) 16 (B) 15

€ 9 D) 7

..................................................

[ 906187 | Set-A ST-28(II) 9/ 48



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

- ——

Adda247]

207

How many triangles are there in the following figure ?

/@/ 16 B 15 :
o) o 7

24. IR Ay W S, S w U, W @l HRT 5 HRT 9 e sa W, o e

&l fohar AT & 2
(A) e ; B HRR
© = : D W

If 'Sand’ is coded as 'Brick’, ‘Brick’ as ‘House', 'House' as 'Temple’, ‘Temple' as

‘Palace’, then where do you worship ?
'@/ Palace (B) Temple
(C) Brick (D)  House

25, w::ﬁ%f‘am%msnﬁuc;mﬁuawnﬁwmﬁtﬁwmfisnomaﬁ%é

forar s 2
(A FQMPR B) QFMPR |
() FQMRP D) QFMRP |

If LIGHT is coded in a symbolic language as JGEFR, then how will SHORT be

coded in that language ?

(A FQMPR B QFMPR
| (© FQMRP (D) QFMRP
s S — =
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26. mﬁmwﬁﬁ“ﬁam(ﬁ%wm)fmﬁﬁﬁ:ﬁﬁwwwmﬂm"?

(A)  do STERIE FEE B) o do 3IRo IETHT
[ (C) o Hto THo I . D) Tfo wfwR g
|
[ Who said, "The Principles (Directive Principles) should be made the basis of all

,' the future legislation" ?

& (A) Pt Jawaharlal Nehru 48/ Dr. B. R Ambedkar
|'
(C) Dr. B. N. Rao (D)  Dr. Zakir Hussain
27. Frefeifea 3§ & #m-w1 drevee @1 90 = 2
(a) T (B) Y]
ple’ as
C) &FTE D) eI

Which of the following does not belong to solar system ?

“JA)  Planets \(B)  Comets
[C) Asteroids /{,}ﬁ, Nebulae
28. - TR o S et Ot w0 P B R o ST E 2
@) FRiwse (B) ErEEHEE
T be © FFEw (D) EEE
The plants which grow on saline soil are known as
§ ' W xerophytes (B)  hydrophytes
| (C)  succulents g’, halophytes

o [ 906187 ] Set.A ST-28(11) | . 11 / 48
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29. ﬁmﬁﬁ%&hwmmwm%mmﬁwﬁmﬁmw

ST & 2
(A) ' : B &
() dew D Feu

{4

Which of the following colours of light undergoes the least deviation while

passing through a prism ?

| ,fﬁr R_ed (B) Green
tC) Yellow (D} Biue
30. fvaH TR wER TR M AL

(A)  ¥WRG B W=
() == @) == T IR

The world's largest Telescope is in which country ?

A nda B Japan :
A¢f  China (D)  United States of America

371, ﬁwwmmmw% ?
Ay SsS@ B) 5
(€ 5T ‘ (D) 59

The 'World Environment Day’ is celebrated on

/p(/ S June (B) 5July
: (€)  5May (D) 5 March ;
32, P 5 o i P 3 4 e et o TR E 2
(A)  YRT FT YU (B) WIEdA |
(C) AR wee (D) A

[ 906187 ] Set-A ST-28(II) 12 / 48
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33.

34.

For which of the following causes, we cannot see during a fog ?

A&~ Scattering of light B) Reflection
(C)  Internal reflection D)  Refraction
frefoifas & & ®H-u1 0 ore (o) Faed WRE Fa ¢ 2
(a) Ty B) TiETECE
(C) TR D) SR
Which of the following represents a billion characters ?
(A)  Kilobytes (B) Gigabytes
4/)(/ Terabytes a7 (D) Megabytes
Y S YR TeEE SiF-ar a9t 2
(a) ~ SETE (B) . =T ’
© wE (e D) R
What was the early capital of Magadh ?
(A)  Vaishali () Champa
AS Rajgril‘Ia (Girivraja) (D)  Pataliputra
freffas o=t S99 © F9-91 $99 TEERY & T 9 IF € ?
() @ (B) T
(€ Hlo THo e (D) RS

Among the following fuels of energy, which is the most environment friendly ?

(A) Biogas (B] Ethanol

(€] © CNG _ADy” Hydrogen

[ 906187 | Set-A ST-28(11) | - 13 / 48
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36. ‘Tava sy e’ o R s o ?

A) 27F B 2=
© 2% D) 2=

The 'World Wetlands Day' is celebrated on which day ?

(A)  2nd March (B)  22nd March
(C)  2nd February Y 22nd May
| 37. 'SvE & 5w Ee @ dehm d )
| | (A) i B ===
I © fre | D) &=
| "Durand Cup’ is associated with whichiof the following games ?
(A) “Polo (B Football
© Cicka | (D) © Hockey
38. "@RM W) wies R 2, 3R U G e w2
(A) T T B) W fa
(C) TR Fw D) == TR few

"Swaraj is my birthright and I shall have it.” Who said ?

(A)  Mahatma Gandhi (B)  Bhagat Singh
(C)  Jawaharlal Nehru ‘ _% Bal Gangadhar Tilak
39. wmwﬁqmwﬁ:mqéaﬁaﬁmﬁmﬁwwaﬁwm
AT &
‘ (A)  AEEIEHER (B) MR & Hifes sfusr

© T = HifT R fagig D) T q P T 1 3

sesasssnan

[ 906187 | Set-A ST-28(I1) 14 / 48
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In Constitution of India, Right to Free amd Compulsory Elementary Education is

included in the sec?ion on

(A) Human Rights
% Fundamental Rights of citizens

(C) Directive Principles of States Palicy

(D)  None of these

40. HFE R H RGN (FIENI) F 2= 746 8

(A) 48 B) 46
€) 44 _ D) 42

The number of chromosomes in the Buman body are

a) 48 By 46

€ 44 D) 42
41,  9RA W AEE F FEE w2
@) e

(B) Y oy |13t & H‘ff ==

(C)  TIhEH % TG

(D)  TAHEWT Ue @ & FEEol

The Speaket of Lok Sabha in India is elected by the
b 1 (A)  Council of Ministers |

(B) All Speake_rs of State Legislative Assemblies

/(‘g/ Members of Lok Sabha

. (D) Members of Lok Sabha and Rajya Sabha

—avesren; —=
.

/48 [ 906187 | Set-A ST-28{1) 15/ 48
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42. FRE T E S SR M A AR E 2
@ 9= A : ® =
(c EEHE | fga e oy =
Which of the following is a major source of oceanic salinity ?
(A) Land S8 Rivers
(C)  Ash from volcanoes (D) Wind
43. &< TEMEPR R o 9 S SH-0F Sea S g 2
(a)  HET | B SR »
€ FoE N o D W - 5 - R
Which strait connects Red Sea and Indian Ocean ?
(A)  Malacea | (15} Bospams
: }/zf/ Hormuz " (D) Bab-cl-Mandeb
44, Tefeiiaa 3 € S9-91 U5 2291 F S<0T8 & 2 -
(A) HelEHTe ‘ (B) HrMHgH
© ©gE (D) T & HE T
Which of the following is a Harappan port ?
(A)  Mahasthangarh (B) Nagapattanam
/ﬁy Lothal (D)  None of these .
: g

[ 906187 ] Set-A ST-28(1I) 16 / 48
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S50 3 SREg diguH | v ©

& 465 IT=%, 25 MM TE 12§
® 395 FF=E, 25 9 T4 8 G
©) 372 VS, 22 W T 12 F=
D) T E BE W

At present the Constitution of India COmmpTiSES

&7 465 Articles, 25 Parts and 12 Schedules
' (B) 395 Articles, 25 Parts and 8 Schedules

(C) 372 Articles, 22 Parts and 12 Schedules

(D)  none of these

vo  FrfeiiEa & W feaen AT W A6 @9 5 el 6 Wehell € 2 |
) TefemE @) @i
©) AferEd D) SHEHEH

Which of the following is not used in making solar cells ? l

(A)  Silicon | ﬁ Platinum

- (C) Galium {D) /Germenium
47. ﬂﬂ?ﬁaﬁﬁuﬁmaﬁqmaﬁtmaﬁqﬁ%ﬁﬂw%Wﬁdﬁﬁm% ?

(A) DR 15 |, B DT 14
(C) DR 16 D) DT 17
Which Article of the Constitution of India is related to Right to Equality before
law ?

it
(A)  Article 15 }B‘ﬂrﬁcle 14
(C)  Article 16 (D)  Article 17

[ 906187 ] Set-A ' ST-28(1I) 17 / 48
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48. Wﬁmﬁqmﬁm%?

(A) T T Zo @ o do 7o

© #FWa - - D) T e (Fo go)

The brain of any computer is

(A) ALU /{g/ CPU

(C) Memory (D}  Centrol Unit (CU)
49. WHF AN W S ® =% 9 4 @ feed sfemam antt 2

(a) FEREEE AR H B) TEEEE A

) sEeaAEd D WG s

o Siant temperature, the speed of sound is maximum in which of the
followng gases ?
(A) Hydrogen _ /‘y Nitrogen

- (C) | Oxygen : (D)  Inall these gases equal

50. g &7 & agan w#mm L A i 8159 F ST gt
g ?

(A FIET 332 (B) BT 370
(C) =T 371 (D) =T 395
‘National Emergency’ ‘may be declared by the President of India in line with
Article 352 - Article 370
,‘S_A//I)f icle (B) cle
(C)  Article 371 s (D)  Article 395

[ 906187 ] Set-A ' ST-28(1I) 18 / 48
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FIgeT WEN
COMPUTER SCIENCE
( Q.Nos. 51 to 150 )

51. UNIVAC®
UNIVAC is
(A) Universal Automatic Computes
(B)  Universal Array Computer
(C) Unique Automatic Computer
.Eﬁf Unvalued Automatic Computes
52. .U& Computer &RI ferw 1T T g £
(A)  Arithmetic operation (B) Logical operation
(C)  Storage and relative (D) E':\ﬁ q gt
The b.asic operations performed by a computer are
(A)  Arithmetic operation (B)  Logical operation
(C) Storage and relative 9/ All of these
53.  Difference Engine %l TR a"?FI g2
Who is the inventor of "Difference Engine" ?
(A) Allen Turing (B) Charles Babbage
(C)  Simur Cray /g/ Augusta Adaming
54, Switching 9SO % ©9 § Microprocessor g 9t & Computér % feue ?
Microprocessors as switching devices are for which generation computers
(A) First Generation (B) Second Generation
(C) = Third Generation ,ip}/ Fourth Generation
[:3051371331;_;; Gt é‘r-m) e
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55. DOS® T M §

DOS stands far
,ﬁ/ Disk Operating System (B!  Disk Operating Session
i (C)  Digital Operating System - (D}  Digital Open System

56. ASCII 3R EBCDIC @&Md Character Coding System & | EBCDIC &1 q AT §

ASCIl and EBCDIC are the popular character coding syste'ms. What does
EBCDIC stand for ?

. y@/ Extended Binary Coded Decimal Interchange Code
(B) Extended Bit Code Decimal Interchange Code
(C) Extended Bit Case Decimal Interchange Code
: : (D)  Extended Binary Case Decimal Interchange Code
57. Computer F = (S FHE ?

Who is the father of Computer ?

' (A) | Allen Turing (B)  Simur Cray

l (C)  Augusta Adaming ﬁ Charles Babbage
(A) tracks per inch of surface (B) bits per inch of tracks
(C)  disk pack in disk surface (D) TH F g
Storage capacity of magnetic disk depends on
(A)  tracks per inch of surface ,g? ‘bits per inch of tracks
(C)  disk pack in disk surface (D)  all of these

59. &l WK % Main memory &

(A) Primary and Secondary (B) Random and Sequential

,ﬁ/ ROM and RAM ‘ O

[ 906187 ] Set-A ST-28(I) ; 20 / 48
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The two kinds of main memory are

(A} Primary and Secondary = Random and Sequential
(C) ROMand RAM B} Al of these
1 S0. T Storage area R 31 9 30 7 & S 3 W B & Rrw s o
- S & o W fafim st 307 @ Smm a2
e % _ A storage area used to store data o Sa=mpensate for the difference in speed at
What does which the different units can handle des= is
(A)  Memory ‘g/ Buffer
(C) © Accumulator D)  Address
61. AR YHM AR favear 4 4w o £ = e ey ¥
(A) Accuracyp- 8]  Reliability
(C)  Diligenece D)  Versatility
Computer is free from tiresome and !radom. We call it
(A)  Accuracyy | . Reliability
(C) Diligenéce :'|D) Versati]if_.f
62. Integrated Circuits (ICs) % 921 3 Computer § Geifit & 7
Integrated Circuits (ICs) are related to which generation of computers ?
(A) First generation {B)  Second generation
W Third‘ generation . D)  Fourth generation
63. CD-ROM ¥ T
(A) Semiconductor memory (B) Memory register
(C) Magnetic memory (D) Eai 1T &
CD-ROM is a I
1 (A)  Semiconductor memory 8] Memory register
- ,9/ Magnetic memory ‘ D) None of these
e [ 906187 | Set-A ST-28(1) 21/48
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64. T¥ hybrid computer
(a) fefes Fger siar &
(B) UAIANT FR AT
(C) 3 fefger aam T w3 &
(D) T | HIE T
A hybrid computer
(A)  Resembles digital computer

(B) Resembles analogue computer

)}C}// Resembles both as digital and analogee computer

=

(D)  None of these :
65. ﬁmm%wﬁaﬁzaﬂammﬁnhmtﬁﬁmewcww

g 2

Which type of computer uses the 8-bit code called EBCDIC ?

(A) Minicomputers 5 8f Microcomputers

% Mainﬁ'amé computers (DY Sapercomputer
66. Computer &I ALU ........... ¥ JF 9 AR\ =924 21

The ALU of a computer responds to the com—ands coming from

(A) " Primary memory .ﬁ Controt section

(C) External memory ‘ (D) Cache memory
67. WYH gl ¥ G H = 52w A1 |

(A)  Transistors : (B) Vacuum Tubes 74T Valves

(C) Integrated Circuits (D) &9 4 %15 =8

Chief component of first generation computer was

(A)  Transistors ' %’ Vacuum Tubes and Valves
(C) Integrated Circuits (D) None of these

[ 906187 | Set-A ST-28(1I) 22 /48
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....... Fridm SR HRAR W TE e E W s fedl & o g ¥

B
FEFE-FEE B GOl W Y
........ is a combination of hardware ans sefiware that féci]itates the sharing of
information between compu_'_ciﬁg der_ _ | |
(A) Network J Pgripheral
(C) Expansion board Py M

69. 1Byte=
,ﬁ/ 8 bits B 4 bits
(C) 2 bits D} 9 bits

70. ﬁﬂﬁ@%&rlcwmﬁmﬁtﬂéimﬁﬁﬁmww ?

T ST (A) SSI = MSI
[C) . L8t D (A) T (B) B
Which of the following IC was used in $hisd generation of computers ?
(A)  SSI B MsSI
) 18 ’, Both (A) and (B)
(A) organization of data . /) pmgrz-imming standard
(C) coding D)  program design
Term, Data St:uc‘ture refers to ............ and interrelationship Jbetween them.
%‘ organization of data (B8] programming standard.

[C)' coding , D) program design

72. 2 GG H, S .cveves THR % & 9 2
In data structure, data may of ......... types.

.‘ (A) 1 B 2
g3 . ¢
fas [ 906187 | Set-A ST-28(10) 23 / 48
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73.  Varjables S program ¥ @i modules Z7%7 ‘IEEI?-'I T 8, I T e &
Vanables which can be accessed by all modules of the program is called
4%~ Global B Autw
© Static D)  Local
74. Stack_,__Queue 3:I’R'I--inln:mdl..ist .............. WWWHFI%QTWWHT%I
— ... TP

Stack Queue and l.mked List can be € implemented using

(A) numeric variable ﬁ; string variable

(C)  logical function D) array :
75.  Hyperlinks, U5 Word document 3k . & F9 ST S e &

(A) T word documeqt |

B wwwwWTs webpage

C = 33 Internet |/ T webpage

D) F=sa9

Hyperinks canbe Created between g Word document and
Ay another word document

% 2 webpage on the www
C) a webpage on a company Internet
(D) all of these =

76. amcupan,lnsmmm%
(A)  Insert choose Pictures 75 Clip Art ¥

(B)  Choose Clip Art icon, & Drawing toolbar

€) 9§ g
D) 49 F FE 55

[ 906187 | Set-a ST 24 / 48
. 28(11) |



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247]

You can insert the clip art from

(A) Insert choose Pictures then Chip Art
W Choose Clip Art icon from Dramsmg toolbar
(C)  All of these

| (D)  None of these

77. HAGEA A @ SH G QR G0 = 58 = =2 = 555 % 2

(A)  H@HIT @ URET B T w A
(C)  |WHT &I G D) FEIAIE T
Which of the following cannot be deme with document version ?

W Modifying a version -~ . [B) Deleting a version
(C)  Opening a version {D) None of these

78. W19 39 9EHd U8 ®I @Ed &, 91 % =7 594 8

When you drag selected text, you can

(A) Delete text B) Link text

(C) Copy text - ,ﬁ’ - Move text
79. AN Ush word document TEE ST ¢
(A) Formatting & ferw (B)  Special characters % fom
(C)  Phrascs & fo10 D) TH 4 |l
You can search in a word document for -
(A) Formatting ,ﬁ’ Special characters
(C)  Phrases %’( All of these

80. 3T Tl STt | feeid g |d £
A) T e A F TEE W
(B) U i 87 H TGS FX A =4 39S Bl €
(€ e =i g9 | TRT
(D) FH & /H

[ 906187 ] Set-A ST-28{11) 23/ 48
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You can add‘a date to a document by

(A)  Inserting a text date

(®)  Inserting 2 date field that will update automatically
(C) Typingthe d.au: manually

(A)  Cursor ¥ line T 37 7% 901l €
8] Cursor ¥ document T 3d % I &
IC)  Cursor = parsgraph 5 3d % 99T £
(D} Cursor ¥ scréen ™ 37 7% 9T &
End Key
(A)  Moves the cursor to the end of the line
ﬂ Moves the cursor to the end of the document
@’ Movwes the cursor to the end of the paragraph
(D)  Mowes the curser to the end of the screen
82. "Ctrl + Page Down’ 31 3781 1541 51T &
(A) Cursor 1 &= paragraph A% 90TH & ferg
(B) Cursor ¥ TF page 512 ToTH & o0
(C)  Cursor ¥ TF line 712 961 % foTT
(D) Cursor I T& screen =19 9o & [01Q
“Ctrl + Page Down” is used to
(A) move the cursor one paragraph down

ﬁ/ " move the cursor one page down

GET IT ON
Google Play
T mmmm—— 3

(C) move the cursor one line down
(D) move the cursor one screen down
[ 906187 | Set-A ST-28(II) 26 / 48
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&3  "Ctrl + Down Arrow" &1 SUalT (a1 e &

(A} Cursor il Q?h' paragraph = == = o

B) Cursor ¥ T line 1 Te1H = 8

{C) Cursor Eal Tch page':hé Tm= %'ﬁ

(D) Cursor &l U screen Y o= = =

"Ctrl + Down Arrow" is used to

(A)  move the cursor one paragraps Sown
y(% move the cursor one line dows

(C)  move the cursor one page dow=

(D) move the cursor one screen dows

g4 =1 § ¥ ® non-linear = zirﬂ%l 7

Which one is a non-linear data :nt:
(A) = Stack 1B) Queue

(C)  Linked list I# Tree
85. "Ctrl + Left Arrow’ key %I 3531 2k L

(A)  Cursor &I hne’?’ﬂ?#ﬂ %ﬂﬂ

(B) Cursor &1 T& word I W I = 7

(C)  Cursor I U paragraph 5 E=SF U

(D)  Cursor & U paragraph 49 = == & o

“Ctrl + Left Arrow” is used to |

(A) move the cursor at the beginning of the line

,[g/ move the cursor one word left
(C)  move the cursor one paragraph up

(D) move the cursor one paragraps down

| [ 906187 ] Set-A ST-284H) | 27 | 48
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Google Play

—_—

-

86.

87.

89.

207

Abstraction ¥l Hdoid &

Abstraction means

(B) Elimination
(C) Hiding (D) Casting
"Ctrl + Page Up" key ¥ 3941 2la1

(A) Cursor I T% page W o 91 & foi@

B) mﬁ@mphﬁ?ﬁﬁﬁ%%q
© c‘mﬁﬁmmﬁmﬁ?m
(D) muwmmﬁmﬁﬂ?fm

"Ctrl + Page Up" isused to /

& move the cursor one page up

(B)  move the cursor one paragraph up

(C)  move the cursor one screen up

(D) | move the cursorone lineup =
Polymorphism ........... HTH fomIyeT €1
Polymorphism is feature of

(A) Procedural programming (B) SQL
(C) Non-procedural programming ﬁ Object Oriented Programming
"Ctrl + Home" key T S95I7T 2141 §

(A)  Cursor &l documentaiﬂ‘v_\ H o 99 % feg
(B) Cursor &I 1me%a$ﬁéwﬁﬂ?%1q

(C)  Cursor ¥ paragraph & ¥[® H & 51 & foig
(D) FH & &4

[ 906187 | Set-A ST-28(1I) 28 / 48
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GET IT ON
Google Play

“Ctrl + Home" is used to

% move the cursor to the beginnamg af Document
(B) move the cursor to the beginamg of Line
(C) move the cursor to the begi:ﬁ‘?aragraph

(D)  all of these
50, “Ctrl + End" key Sl SUalT &l €

(A) Cursorﬁ linegﬁ Sl?fﬁ F\fﬁ%k
% Cursora’ﬁ documenta'? Eot-t b o = fou
(C) Cursor Eal paragraph & Fa === & ¢
(D) T | HE

"Ctrl + End" is used to

(A)  move the cursor to the end of e

(B) move the cursor to the cnd_‘PCnt

(C) move the cursor to the mﬂ*aph

(D) none of these

91. uﬁmﬂamm@zmtﬁwﬂw@ﬁ%@ﬁﬁmﬁ

¥ 7

How can you update ﬂuw cells if Auto Calculate mode of Excel
is disabicd ? 1 o

() F8 &__?/ F9

() F10 D) Fil

92, mﬂmﬁémmﬁ%%mmm;ﬁqaﬁ iR fper Feat @ @
T W S, mmﬁwmmaﬁmwaﬁmwwww
g ?

You want to set such that when you type Baishakh and drag the fill handle,
Excel should produce Jaistha, Aashadh and so on. What will you set to effect

that ?
K . /&g/ Custom List /=)  Auto Fill Options
(C) Fill Across Worksheet D) Fill Series

................................
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93, F*'Wﬁﬁﬂﬁ%{ﬁmﬂ?gaﬁm%ﬁﬁﬁm%7
(A) Double CAL indicator on status bar

(B; Go 1o Tools >> Options >> Calculation and mark the corresponding radio

buton
G ™= @

DY ¥ 5 S )

Wherr can vou change automatic or manual calculation mode in Excel ?
o - — —— — —— _____"_'_‘——---—_-.-——.—--
A Double CAL indicator on status bar

B) Go to Tools >> Options >> Calculation and mark the corresponding radio
button :

ASF Both of (&) and )
(D) Nonc of these

\ 94. mﬁaﬁkﬁﬁsm%@&@rmmm%?

How 38 you show!er hide the grid lines i Bxcél Worksheet 3

(A} Go'to Teols >> Options >> View tab and mark or remove the check box
named Gridline

(8)  Cliclk Gridline tool on Forms toolbar

S Both a)a (B

(D)  None of these

95. .ﬁw’ﬁ@aﬁﬁﬁqmmﬁmmmﬁma‘aﬁﬁmmm%?

Which of the following Excel Screen components cannot be turned on or off ?

(A) Formula Bar (B) Status Bar

,ﬁ’ Tool Bar (D) None of these

.......................................
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mm@aﬁ-waﬁmﬁaﬁwﬁ%m Ctrl + X ST & A AT B

=5
g7
(A)  Selected cells % cell content, e=i = FFH 21X clipboard T stored Gl Sk
g radio i
@) AR cells e b ford et
() aaﬁaceusfgﬁazﬁm%mﬁwmwﬁaﬁmﬁ%
(D) aﬁﬁﬁceuS%%zamwﬂimmﬂsﬁ%
What happens when you press Ctrl = X afer selecting some cells in Excel ?
(A) The cell content of selected o8 disappear from cell and stored in
clipboard
o ’L?’,f/’- The cells selected are marked foroatting

(C) The selected cells are deleted ams =2 cells are shifted left

(D) The selected cells are deleted ams cells are shifted up
97. Wﬂﬂaﬁ:mﬁmmwm%mxﬁwaﬁ% ?

Which of the following options n“ble in Paste Special dialog box ?
& ﬂ Subtract

(A) Add
W Divide SQRT
e 98, m@nwmﬁﬁﬁ*ﬁﬂaﬁmqﬁﬁ7

(A) Cut and Paste 5
(B) Edit >> Paste Speciél >> Transpose
© (&) (B) T

D) T J o T

d will you choose to conwert a column of data into row ?

Which comman
(A) Cut and Paste
(B) Edit >> Paste Special >> Transposc

/Both (A) and (B)

(D) None of these

g8 [ 906187 | Set-A ST-28(11)
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99. %9 =49l worksheet 9T QHITH mﬂsﬁ?ﬁ‘ﬁﬁﬁﬁmﬂiﬁ ?
(A) Data Tl Uiafee HYH cells T gl
(B) ﬁ_dagﬁmmceﬂsﬁﬁﬁ
(€ text & ol F3 | EREN abbreviation =2 277
(D) text %1 format FH &l 3@ HE gIE = B
It is écccptable to let long te);;t flow into adjacent cells on a workshéet wﬁen
(A) data will be entered in the adjacent cells
% no data will be entered in the adjacent cells
(C)  there is no suitable abbreviation for the text
(D)  there is no time to format the text
100, Wl Ui § § T v 39 wX § BF 9 99 S e § 2
(A) Doctor's symbol (Big Plus)
(B) Small thin plusicon
(C) Mouse Pointer with anchor at the tip
(D) T F FEE
Which of the cell pointers indicates you that you can make selection ?
(A) Doctor's symbol (Big Plus)
(Bj Small thin plus icon
i ér Mouse .Pointer with anchor at the tip
L § (D) Nonec of these
' 101, o1 G A | T 379 =0 € 5 AT @A WFFA € 7
(A)  Doctor's symbol (Big Plus) |
(B) Small thin plus icon
(©C) Mouse Pointer with anchor at the tip

(D)  None of these
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Which of the cell pointers indicates S sme can fill series ?

'5/ Doctor's symbol (Big Plus)
(B) Small thin plus icon

(C)  Mouse Pointer with anchor & e 5o ]
(D)  None of these

102. UFE vie W afhy 9 e e = 8
(A) UF BT §ET R B U o ane 9K AN
(©) U foifrm st gr D ARS8 IR ERT

On an Excel sheet the active cell s smfiested by

(A) a dotted border a dark wide border

(C) a blinking border D) Dby italic text
103. ¥ ¥ g =S U e 3 HATE ?

What term describes explanm,red toacell ?

(A)  Context B) Callout

( Comment D)  Dialog
104. ﬁmﬁﬁﬁﬁﬁﬂ =34 8 SO ?

(A)  Using the Edit - Sclect All R AT ERT

e ——

(B) &S W Ctrl + A TaHT

‘% YigHiZ | 3T mouse button 7 =7 et H
(D) 38 G FiE 7@ | |
Which of the following will not select all the cells in a document ?
(A) Using the Edit — Select All menu

(B) Pressing Ctri + A on the keyboard
3 _ % Clicking three times with the mght mouse button in the spreadsheet

g/ None of these
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105. U 7F workbook ¥ 77 221 % fiu fewicz o=t 2

The default style for new data keyed in a new workbook is ?

(A) Comma : ﬁ/ Normal

(8] Currency (D) Per cent
106. 3 AN .......... T § A cell A9 TR 1 Ve $ w9 § @HR T
Hyoupress .. . . the cell accepts your typing as its contents.
(A Tab (B) Ctri+Enter
A7 Enter (D)  Alt+Enter

- -~ - - -

107. Wﬁﬁmmimqagm% 2

Which among the following is associated with Excel ?

(A) Graphic program (B) Word Processor
t (C) Presentation : "ﬁ/ Spreadsheet

108. 7= = ¥ =% Punciion ® %% BRE F T 0F T F AT TF RO ¥
: FYF T (True) T T (False) K@M & 2

A)/  NOT (B) OR
C) IF (D) AND

Except which of the following functi_ons, a formula with a logical function shows
the words "TRUE" or "FALSE" as a result ?

; (A) NOT (B) OR

4 IF (D) AND

109. THieT o, Frfefas § § =7 vs 3y 57 wivd 761 § 2

’ Which of the following is not a valid zoom percentage in Excel ?

|: (A) 10 B) 100

| 300 , @ 500

. [ 906187 | Set-A ST-28(I1) 34 / 48
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a8
A) I THA

(C) (AT (B) I

(C) Both (A) and (B)

(A)  UID ¥&AT

(C) Account &1

- (A) UID number

(C)  Account number

(A) cin

W tuple

113, WIS GHEY Sigd & oK

You can check the conditions agassss ...

230 Conditional Formatting T e W% & ... ¥ faenw fafa &t = 3

b
= T

Formula

None of these

111, T SR E o A U A e 7

Admission &A1

PAN

Which of the following is a primary kev = a student table ?

y * Admission number

"ﬂh

L=

(D)

PAN

12, ﬁm%ﬁﬁﬁﬁﬁaﬁ#-m@éﬂsmw% ?

Which of the following is a valid SQL command

cout

select

Which PowerPoint view works best for adding slide transition ?

when applying conditional

GET ITON
Google Play

207

S5 Power T4 (View) TR 301 I HIAE 2

(A) Animations (8] Chart Wizard
}% Transition Wizard (D}  Auto Content Wizard
[ 906187 ] Set-A ST-28(11) 35 / 48
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114. Objects &
Objects are
(A) Design of function (B} Creator of data

% Instances of classes (D}  Program block
115. #H9 UF Embedded €78 chart object 1 59755 57 5 §

(A) Double clicking the organization chart object

(B)  Clicking edit object

(C) Right clicking the chart object, then clicking edit MS-Organization Chart
object ‘

(D)  (A) @ (C) 3
You can edit an embedded organization chart object by
(A)  Double clicking the organization chart object

(B)  Clicking edit object

/{9/ Right clicking the chart object, then clicking edit MS-Organization Chart

object
. (D)/ both(A)and (C)
' 116. Boolcan SISFING § A.A ST &

In Boolean algebra A.A is equal to

A A B) 2a
(C) A2 1
A

117. IES §iX FI 9 menu & w59 fpar T a1 € 2

Slide sorter can be accessed from which menu ?

M . View (B) Edit
(C} File (D) Insert
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118 Boolean SIS ¥ AND operator 31 558 &

120.

121.

In Boolean algebra the function of AND Sperator is

J‘fp E : ' a -
</ : o
TF T4 formatted Vel 1 & e =S E =g @A ¥ 2

What would you choose to create a pre-farmatted style ?

(A) Format # Slide lajout

(C) Slide sorter view D¢  None of these

fFrfefiEd logical FEt & | 19 BT Boslean STINE T + hd FRT IET 7T & 2
(A) OR n NOT

(C) NOR ) AND

Which of the following logical operations is represented by the + sign in Boolean
algebra ? -

(A) OR 8 NOT

(©) NOR gy AND

Custom Animation task pane %1 3939 =77 gU Ush 7d Y YHE & aiaeiieh o
&4 FAT ey
(A) double click the motion path B) click the show effect button

(C) click the play button (D) ECte] | g el

To preview a motion path effect using the custom animation task pane, we

should
(A) double click the motion path ,ﬁ click the show effect button

(C) click the play button (D) None of these
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122. 7 9 %19 W SQL ¥ DCL Command & 2

Which one is a DCL command in SQL ?

‘15 UPDATE . (B) SELECT
(C) DELETE ° ' (D)  GRANT
123. = 3N =8 =39 390 90 T £ 3R AW F =R F 9K 6K e § At v
=i 3595 ‘:--_. e %’:} '

What is the tevm used when you press and hold the left mouse key and move
the mouse around the shide ?

(A} Moving g/ Dragging
(C) Monitoring (D)  Highlighting
124. ﬁmﬁ?%;::?éih?&squommaﬁd%aéa#é;%mWaﬁaﬁ% ?
Which of the following SQL commands is used to view data ?
(A) CREATE (B) INSERT
AV~ SELECT (D) UPDATE
125. e # 2 39 3 992 e weh F ot womset 3 fe denn vee 3 a0
IE ITER #37 # o 99 Swraw € )
Which of the following wiews i§ the best view to use when setting transition
effects for all slides in a presentation ?
(A)  Slide (B)  Notes page view
,ﬁ Outline view (D)  Slide sorter view
126. Math.h & U&

Math.his a
(A) Derived data type (B) Function
ﬁ)/ Header file (D) Built-in data type
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127. mﬁﬁwmmmmmi
(A) e current slide % feTT
|) v wgel o e
©) H‘ﬂﬂémﬁra’tmﬁmmiéfm
o) TE IR

The selected design template can be appied

(A)  to current slide only

/g/ " to all the slides

(C) to all the new presentation ¥o= create

(D)  all of these

108, WS fe=s 3R 3z g EEe . == IR ©

A AT -

207

(B) Auto Content Wizard 1s just s wizard version of Slide Design

(C) / Slide Design does hot prowifie sample content but Auto Content Wizard

provides sample annﬂ!lp

(D) Shde Design asByom' choice amsteps but Auto c

let you make choices

The difference between Slide Design and Auto Content Wizard is

(A) Both are same

(B) Auto Content Wizard is just the wizard version

ontent Wizard does not

of Slide Design

(C) Slide Design does not provide sample content but Auto Content Wizard

provides sample content 100

ﬁ/ Slide Design asks your choice in steps but Auto Conte

let you make choices

nt Wizard does not

1906187153,\ = |
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129. 8 o 4 ot wige oo, wirgs sasz = = gfawnd foer gt € 2

In which menu can you find features like Slide Design, Slide Layout etc. ?

(A)  Insert Menu ,(9’/ Format Menu
(C)  Tools Menu ,@'/ Slide Show Menu
_ 130. T Wl WY SATGH! THHYH IS, F2H THETH, T2L transition I T T

Which menu provides you the options like Animation Scheme, Custom

' Animation, Slide Transition ?

(A) Insert Menu (B) Format Menu

’9/ Tools Menu (D) Skde Show Menu

131. ¥4 fofvs %223 51 F0% 39 TS & [ UF single coherent FZS =71 & @t
34 el S ®
When collection of various computers seems a single coherent system to its
client, then it is called
~" computer network B distributed system
j/al// P (B) y

(C) both (A) and (B) (D) none of the mentioned
132. 3 feamsa oo g &, avR ‘

(A) T T O feand v o g 8
B) S TEE Y EIETEH R E
() fafve fearsat & oo et Farsi S PDUH A & -
D) 9 | FE T8
Two devices are in network, if
= (A) a process in one device is able to exchange
/91/‘ a process is running on both devices
(C)  PIDs of the processes running en different devices hare same

(D) none of these

--------------------------------
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133, frfefEd § § B9 W @ Aeaw 66l FF a9 5 AN W S e ?

Which one of the following computer networks is built on the top of another

network ?
(A) Prior network (B) Chief network

_ . /' 1
(C) Pnime network 35‘)/ Overlay network

134, I === = nodes %

(A) the computer that originates the data
B the computer that routes the data

(C) the computer that terminates the data

D) F=EFEFE
In computer network nodes are

(A) the computer that originates the data
A@V the computer that routes the data

(C) the computer that terminates the data

(D) all of these

135, AR Ae Aeaw W wH AT FRT A fH S’

(A) broadcast network ¥ (B) unicast network H
(C) multicast network - (D) 3’!"}! | aﬁ? qﬁ
Communication channel is shared by all the machines on the network in
% broadcast network (B) unicast network
(C) multicast network (D) none of the these.
1300 vivevins Ush IYshivl g packets e routing R i processing FF ATH B

d packets &1 forward Tl € |

(A)  Bridge (B) Firewall
(C)  Router : (D) ¥ F |t

---------------------------- PTTTTTTTTTITNS sesnssann
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X N - R is a device that forwards packets between networks by processing the
i routing anformation included in the packet.
(A) Bridge (B) Firewall
,.K;t Router (D) all of these
137. &1 T EO90 T WY F w5 o6 S
= _
The structure or format of data is called
b& Syntax B8 Semantics
lom ¥
(C) Struct (D) None of these
138. H IR T F 99 GOR .. ZEETE | wifhe §
Communication between a computer and a keyboard involves ............
. transmission
dr
(A)  Automatic ,.@’/ Half-duplex
A (C) Full-duplex (D) Simplex

139. M EE F5w= 35% Wi feaa =8 & 2
Which of the follwing is not a network edge device ?
(A) PC iB) Smartphones
/c’)/ Semers (D) | Switch
140. =% Transmiission FNedl & UF 295 3 599 AN transmission speed & 7
Which tramsmission media has the highest transmission speed in a network ?
(A) Coaxial cabie (B) Twisted pair cable
45}~ Optical fibee (D)  Electrical cable
141. AR FE ?
(A) A single network
(B) A vast collection of different networks

(C) Interconnection of local area networks
(D) T 9 Hi% I

............
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20’
What is internet ?
(A) A single network .

;ﬁ A vast collection of different networks
(C) Interconnection of local area networks

(D) none of these

To join the internet, the computer has to be connected to a
(&) intermet architecture board (B) internet society

/ﬁ/ mternet service provider (D) none of these
143, % =S RS o % aR} W fefeze T2 Sk Hh e F STEN ERT

g\q_%"i FT’-.. =0 g

Internet access by transmitting digital data over the wires of a local telephone

network is provided by
(A) leased line ” digital subscriber line

: (C) . digital signal line none of the mentioned
144. ISP 39S F2a® ¥ 919 T b A W—WW%

(A) internet exchange point (B) subscriber end point

(C) isp end po‘int (D) FTET g Eﬁﬁ :l'ﬁ

ISP exchanges internet traffic between their networks by

(A) internet exchange point (B) subscriber end point
isp end point (D)  none of these

145. Wﬁﬁﬁ@ﬁﬂﬁﬁﬂﬁﬂﬂ:ﬁ%ﬂw%?

(A) HTTP (B) DHCP

(€) DNS _ D) T Q HE T

...................................................................................

.........
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Which one of the following protocols is not used in internet ?

JN§ BOE . ® - pHcP
{2 DNS D} None of these
146. IPv6 address Tl &R &
A) 328 B3 64¥E
©) 128%% D) 265¥€

IPv6 address has a size of

(A) 32 bits 64 bits

iﬁ/ 128 bits D) 265 bits

147. Internet 9 Sl &

w

(A)  packet switching

(B) circuit switching ®

(C)  packet switching T4 circuit switching TH W

(D) THE=E

Internet works on P

w packet switching

(B) circuit switching|
| % both packet switching and circuit switching
3 (D) none of these

148. ﬁﬂfﬁf@ﬁﬁ'@ﬁhﬁmﬁmﬁﬁﬁﬂAppﬁcaﬁonlayermqﬁ
8?2

(A) remote procedure call (B) internet relay chat

(C) resource reservation protocol ﬁ T 9 T e
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Which one of the following is not an application layer protocol used in internet ?
(A) Remote procedure call (B) Internet relay chat

(C) Resource reservation protocol (D)  None of these

9 @ AEE, T TR Clientﬂ’ﬁ_‘IPAddressWFfWT% ?

(A) DHCP B IP

(© RPC D) T A HIE T

Which protocol assigns IP address to the client connected in the internet ?
A) DHCP P

(C) RPC (D) None of these

Media Access Control ¥ Fieffad # & fae Sqam el far e ¢ 2
(A) ethernet

(B) digital subscriber line .

(C) fiber distributed data interface

D) T § = @

W.hich one of the following is not used in media access control ?

(A) Ethern!st

(B) Digital subscriber line

% Fiber distributed data interface

(D)  None of these

[ 906187 ] Set-A ST-28(II) T45/48



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page


